Class VIII Maths

Exercise 1.1
Question 1:

Using appropriate properties find:

2[3]I3I2

Rl el Bt Sl et
(”):: T) 6 2 14 5
Answer

(1

23 531 23 31 5
——H—— =R Tm— X — ==X ——
35 2 56 3 5 5 6 2

(Using commutativity of rational numbers)

2 1) 5 T
X[ —+—[+= (Distributivity)
3 6) 2

()

3

5

3),5_ (23+5x3)_ (-3+15
6) 2 : -

4] i)

A
:l—-=2

§]
(i)
2[3]|1|27[3]]3 3
x| e — xS T S [ —x S ——x =
5 7) 6 2 14 5 5 7)) 14 5 6
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2 3010 1 I
Zx| e |—— i By distributivity)
sV 7 14) 4
2 ([ =3x2+1% 1
:q}{| ] |
50 14 4
2 (=5 1
= — —|——

5 V14) 4
1 1
7 4
_—4-7 -1
28 28

Write the additive inverse of each of the following:
2 -5 ~6 2 19

@) 8 @) 9 (i) S (v) 9 6

Answer:

2
(i) 8

o0 | 2

Additive inverse

2
iy Y

O | e

Additive inverse
& -

iy =3

L | o

Additive inverse
2 -2

(iv) 99
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_2
Additive inverse 9
19 ~19
v 6 6
19
Additive inverse _g

Verify that —(—x) = x for.

11 13
x=— Xx=—-—
(i) IS(ii) 17
Answer:
11
X=—
(i) 15
11 11 11y
X=— X=—— E_ —E =
The additive inverse of I5is 15 as \ /
11 11 1111
—+| —— (=0 —
This equality 15 415 represents that the additive inverse of I5§s 15 or it

( 11]_”
can be said that L 15 ]5i.e., —(=x) =x

13
¥y==—
(ii) 17
¥ = E _1':5 ]3 } ]3={]
The additive inverse of 17 s 1Tas 17 17
315, 13 13

This equality 17 17 represents that the additive inverse of 17is 17 i.e.,

—(—x) =x

Find the multiplicative inverse of the following.
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13 1
@y ~B3ay 19 @iy 3
5:.( 3 [x 2
vy 8 7 (v 5 (vi) -1
Answer:
(i) —13
]
Multiplicative inverse = — I3
13
Giy 19
19
Multiplicative inverse = 13
1
(iii) 3
Multiplicative inverse = 5
5 . 3 _ 15

Gvy & 7 36

a6
Multiplicative inverse 15
2 2
| =
(v) 5 5

Multiplicative inverse
(vi) =1

Multiplicative inverse = —1

Name the property under multiplication used in each of the following:

4x1=1>< 4= 4

(i) 3 5 5
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13 =2 -2 =13

—— e W
Gy 17 7 T 17
19 29
—_— =

Ginp 29 -19

Answer:
_ixlzlx_iz_i

(i) 9 3 5

1 is the multiplicative identity.
(ii) Commutativity

(iii) Multiplicative inverse

4] -7
Multiply 13 by the reciprocal of 16
Answer:
6 (oo 7Y 6 16
—:><| Reciprocal of —— |= —x——
13 1 16, 13 7

Tell what property allows you to compute

Answer:

Associativity

8 N

06
91

1 [
30

Is 9 the multiplicative inverse of 89 Why or why not?

Answer:

If it is the multiplicative inverse, then the product should be 1.

However, here, the product is not 1 as

. 0)
§><(—Il]—§>c[—— |——l # 1
9 8) 9 8 )

h,

,

— Emi] as |rl><6x|><
b~ A
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3

Is 0.3 the multiplicative inverse of 32 Why or why not?
Answer:

110
3I—=

3 3

| 10 3 10
3 % =1

03x 3=03x 3 10 3

3 |

Here, the product is 1. Hence, 0.3 is the multiplicative inverse of- 3,

Write:

(i) The rational number that does not have a reciprocal.

(ii) The rational numbers that are equal to their reciprocals.
(iii) The rational number that is equal to its negative.
Answer:

(i) 0 is a rational number but its reciprocal is not defined.

(ii) 1 and —1 are the rational numbers that are equal to their reciprocals.

(iii) O is the rational number that is equal to its negative.

Fill in the blanks.

(i) Zero has reciprocal.

(ii) The numbers and are their own reciprocals

(iii) The reciprocal of — 5 is
1
(iv) Reciprocal of ¥ , where ¥ #Ujs
(v) The product of two rational numbers is always a

(vi) The reciprocal of a positive rational number is
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Represent these humbers on the number line.

7 5
(i) 4 iy ©
Answer:

7

(i) 4 can be represented on the number line as follows.

(i) 6 can be represented on the number line as follows.

=5

et

2 =5 -9
Represent 1111711 on the number line.

Answer:
2 -5 -4

171111 can be represented on the number line as follows.

-9 = 3

! 11 1
- ————————————————————————

Write five rational numbers which are smaller than 2.

Answer:
14

2 can be represented as T,
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Therefore, five rational numbers smaller than 2 are

13 12 11 10 9
777777
-2 |

Find ten rational numbers between & and 2

Answer:

-2 | 8 10

— —and —

2 20 respectively.

3 and 2 can be represented as
=2 1

Therefore, ten rational numbers between 5 and 2 are

§ 2 4 3 2 1 1 2

7

200 200 200 200 200 207 207 720720

Find five rational numbers between

- ;
= and i
0 3 5
3 and E
(i) 2 3
l and l
(iii) 4 2
Answer:
= and i E::uu'i E
(i) 3 5 can be represented as 45 45 respectively.
o] r
= and i
3 5 are

Therefore, five rational numbers between

31 32 33 34 35
457457457457 45
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3 5 0 10
and — and —
(i) 2 3 can be represented as 6 6 respectively.
3 5
and
Therefore, five rational numbers between 2 3 are
8 7 | 5 4
66 6 6
1 1 b 16
— and 5 — and —
(iii) 4 = can be represented as 32 32 respectively.
1 1
— and —
Therefore, five rational numbers between 4 2 are
9 10 11 12 13

32732 °32732°32

Write five rational numbers greater than — 2.
Answer:

14
—2 can be represented as — T,

Therefore, five rational numbers greater than —2 are

1312 1110 9
7077 17 17 7
3 3
Find ten rational numbers between 3 and 4
Answer:
3 3 48 an 60

80 respectively.
3 3

Therefore, ten rational numbers between Sand4 are

Sand 4 can be represented as 80
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